Student Activity: To investigate simple inequalities

Use in connection with the Interactive file, ‘Simple Inequalities’, on the Student’s CD.

1. Show the following inequalities on the following number line:
a. X<2,x€ER.
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40 9 8 7 6 5 -4 -3 2 -1 0 1 2 3 4 5 6 1 8 9 10
b. x>3,x€R.

40 -9 8 7 6 -5 -4 3 2 4 0 1 2 3 4 5 § 1 8 9 10
c. x<4,x€eR.

40 9 8 7 -6 5 -4 -3 2 -1 0 1 2 3 4 5 6 1 8 9 10
d. x=5,x€ER.

40 -9 8 7 6 -5 -4 3 2 4 0 1 2 3 4 5 § 1 8 9 10
e. x<2,x€eR.

40 9 8 7 6 5 -4 -3 2 4 0 1 2 3 4 5 6§ 17 8 9 10
f. x>0,x€R.

40 -9 8 7 6 -5 -4 3 2 4 0 1 2 3 4 5 § 1 8 9 10
g. x<0,x€R.

40 9 8 7 6 5 -4 -3 2 1 0 1 2 3 4 5 6§ 17 8 9 10
h. x>-2,x€R.

40 9 8 7 6 5 -4 -3 2 1 0 1 2 3 4 5 6 1 8 9 10
i. x<-4,x€R.

40 -9 8 7 6 -5 -4 3 2 4 0 1 2 3 4 5 § 1 8 9 10
jo x=-2,x€R.

40 9 8 7 6 5 -4 -3 2 -1 0 1 2 3 4 5 6 1 8 9 10
k. x<-1,x€R

40 -9 8 7 6 -5 -4 3 2 4 0 1 2 3 4 5 § 1 8 9 10
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l. x<2,,x€Z. (Note thisis notx € R.)
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9 8 7 -6 5 4 3 2 4 0 1 2 3 4 5 9 10
m. x> 3, x € N. (Note thisisnotx €RR.)
40 9 8 7 6 5 4 -3 2 -1 0 1 2 3 4 5 9 10
n. x<4,x€N. (Note thisis notx € R.)
40 -9 8 7 -6 -5 -4 3 2 4 0 1 2 3 4 5 9 10
0. x=5,x €Z. (Note thisis notx € R.)
40 9 8 7 -6 5 4 -3 -2 -1 0 1 2 3 4 5 9 10

2. Which inequality does each in the following number represented, given x € R?

a.

-0 -9 8 -7 -6 -5 -4 -3 -2 - 0 1 Y 3 4 5 9 10 N
b.

9 8 -7 6 -5 4 3 -2 4 0 1 ’ 3 4 5 9 10 1
C.

-10 -9 -8 -7 -6 -5 -4 -3 -2 ‘-'1’ 1 2 3 4 8 9 10
d.

-10 -9 -8 -7 -6 -5 -4 -3 -2 -1 1] 1 2 3 4 7 8 9 10
e.

-0 9 8 -1 -6 -5 -4 -3 -2 5‘( 1 2 3 4 8 9 10
f.

-10 -9 -8 -7 -6 -5 -4 -3 -2 -1 0 1 3 Fi 8 9 10
g.

o o B 7 & B 4 3 5 %o 1 2 3 7 8 8 10
h.

To B B 7 % B 2 3 2 4 T 7 8 8 10
i

40 -9 -8 -7 6 -5 -4 -3 -2 -1 0 , 5 7 8 9 10
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